BALFIL (ELBRB) T2 5 E (R BREFET7 7 — (RER-RHFA)
BE E£MEEPE
NREM 292| EIEEH 80| m& 3£ (%) 27
1: HEEREEDLSVDEETEABTITIBEICHELEL-A? (FEBSICEATIERM) [ &
RX: 4 FR 1]
mEES EIE=3 AH s [BEFESR| £FEYHR
1 ETCHE 73 4 39 3.7
2 9EILL E 5 3
3 8ZLL E 1 2
4 8EI K il 1 1
&5t 80

2 : Hlat-ITERICIBEICRYEAE

L2 (FEBFICETSEM) [ BIRK: 4 H/HR 1]

EEES [EE=3 A¥ s |HERENR| £2FFYR
1 (I @) ) 51 4 3.6 3.6
2 aw):) 27 3
3 HFEYZSB DL 2 2
4 ZOB D0 0 1
=i 80

3: HLEERFE-EBICENDEEORMEENELM? (FEASICETSIERM) [ FRK: 3 FHR 1]

EEES [EE=3 A¥ s |HERENR| £2FFYR
1 RERRBLLE 22 4 3 3
2 BERBDIS~11E 35 3
3 BEBBOSEXRG 23 2
= 80

4 BELEEBEIE. OSNRIZH>TUWELED

? (BEARFCEIIEM [ BRAK: 4 HR 11

EEES [EE= A# s |HMREYNR| £2¥F8R
1 H<ZIES 37 4 3.4 3.4
2 585 41 3
3 HFEYZSB DL 2 2
4 Z5BHE0 0 1
=L 80

5: BROHFETBEYITLEN? (BEANRF

2B HEM) [ BIRK: 5 HR 1]

EEES [EE= A# s |BEFNR| £2¥F8R
1 pER)] 59 4 3.7 3.7
2 POHLTED 19 3
3 POZFLTED 0 3
4 MEYELTED 2 2
5 MMEYZLTED 0 2
&5t 80

6 : MEDEEITBELYTLLEN? BERNBTFICEITHER) [FRIRK: 5 FHiR 1]

EEES [EE= A# s |BEFNR| £2¥F8R
1 pER)] 74 4 3.9 38
2 POETED 3 3
3 POEFTED 3 3
4 MNEYRGES 0 2
5 MNEYETES 0 2
=L 80




7: BREASIBREDOES. REKEI T+ IHERSKTOELEN ? (BERTFICETHHERM) [
BIRHX: 5 FHR 1]

BEES EBE= A¥ Fifin |HEEYHR| £¥FEYR
1 (IS @) ) 41 4 35 3.4
2 Z585 37 3
3 HFEYZSB AN 1 2
4 TOEDIEL 0 1
&t 79

8 : BM,  AM(RREBFESV)FRIBRXNBFOBRICRIALFELELN ? (BERNERFITETS
B [BRKX: 5 FR 1]

BEEES [EE A% fifin |HBEFHR| £2FFHR
1 (G ap) %) 35 4 3.4 3.3
2 Z585 41 3
3 HEYZSBHIEL 2 2
4 Z5BHE0 1 1
&t 79
9 : HEDHAFHLMOTHSLTTHI? (BERBEFCEHTLIER) [FERK: 5 FHIR 1]
BEES EE A s |HMEFHR| £FF8S
1 Bm<ESES 34 4 33 3.2
2 585 36 3
3 HEYZLIB DAL 7 2
4 Z5BHiE0 2 1
&t 79

10 : HEDEBEICHTIEBI L TLED 2 (BEREFICRHATIEM) [BRK: 4 FR 1]

BEES EE= A s |HMEFHR| £FF8R
1 Bm<ESES 40 4 3.4 3.3
2 585 34 3
3 HEYVZSIB AN 5 2
4 TIRDHEL 1 1
&5t 80
11: COBEEBBLTEN-EBVETH? (BE) [ F|IRK: 4 FHIR 1)
BEES Bk AE s |[BREIR| £FFHR
1 G 3p) ) 44 4 35 34
2 ar)isp) 31 3
3 HEYZLIB DAL 4 2
4 Z5BHiE0 1 1
&t 80




